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a) It is very rigid

b) It is a blend of rigidity and flexibility
c) It is very flexible

d) It cannot be amended

. The tenets of Welfare State are contained in?

a) Directive Principles
b) Fundamental Rights
¢) Fundamental Duties
d) None of these

Who was the first Speaker of the Lok Sabha?

a) G. V. Mavalankar
b) B. R. Ambedkar
c) M. A. Ayenger

d) Bali Ram Bhagat

. Who was popularly known as "Frontier Gandhi"?

a) W.C. Banerjee

b) C. Rajgopalachari
¢) Khan Abdul Gaffar
d) Dadabhai Nauroji

Who was the first Governor General of India?

a) Lord Dalhousie
b) Lord Curzon

¢) William Bentick
d) Warren Hastings

Where did Lord Buddha preach his first sermon?

a) Ranchi
b) Sarnath
¢) Nalanda
d) Patliputra

Harappa ruins are situated in?

a) Montgomery
b) Jaisalmer

¢) Gujarat

d) Lahore

“Servants of India Society” was founded by?

a) Bal GangadharTilak

b) Raja Ram Mohan Roy
¢) Gopal Krishna Gokhale
d) Lala Lajpat Rai

SECTION-I
GENERAL KNOWLEDGE & CURRENT AFFAIRS

. Which one of the following is true about our Constitution?

9.

10.

11.

12.

13.

14.

15.

16.

Which planet is nearest to the Sun?
a) Mars

b) Mercury

¢) Venus

d) Saturn

Which of the following is measured on Richter Scale?

a) Density of liquids

b) Intensity of earthquakes
¢) Velocity of tornadoes

d) Height of mountains

The thermal power plant of Bokaro is located in?

a) Bihar

b) Chhattisgarh
¢) Orissa

d) Jharkhand

'Radcliffe Line' is the boundary line between?

a) India & Pakistan
b) India & Nepal
¢) India & Bhutan
d) India & China

Which countries are separated by Mac Mohan Line?

a) India & Myanmar
b) India & Bangladesh
¢) India & China

d) India & Afghanistan

On the banks of which river is the holy city of Ayodhya
located?

a) Ganga
b) Sarayu
¢) Gomti
d) Narmada

Which of the following rates is not decided by the RBI?

a) Bank rate

b) Repo rate

¢) Reverse repo rate
d) Income tax rates

The headquarters of the World Trade Organisation is in?

a) Geneva

b) Rome

¢) Washington
d) New York



17.

18.

19.

20.

21.

22.

23

24.

'Garba' is a popular dance of which State?

a) Punjab

b) Gujarat

c¢) Rajasthan
d) Tamil Nadu

The book 'God of Small Things' is written by?

a) Amartya Sen
b) V. S. Naipaul
¢) Arundhati Roy
d) Amrita Pritam

International Women's Day is celebrated on?

a) 8th March

b) 5th June

c) 11th July

d) 9th September

Who is the present Chairman of the NHRC?

a) Justice R.C. Lahoti

b) Justice R.M. Lodha
¢) Justice Altamas Kabir
d) Justice Balakrishnan

Which of the following States has the highest literacy rate
according to the census 20117

a) Tripura

b) Kerala

¢) Mizoram
d) Karnataka

Who is the first cricketer to hit double century in a World
Cup game?

a) Rohit Sharma

b) Sachin Tendulkar
¢) Chris Gayle

d) Martin Guptil

‘Rickets' is caused due to the deficiency of?

a) Vitamin A
b) Vitamin B
¢) Vitamin C
d) Vitamin D

The famous Golden Temple is situated in?

a) Amritsar

b) Chandigarh
¢) Ludhiana
d) Mohali

25.

26.

27.

28.

29.

30.

31.

32.

Which of the following is known as the 'Pink City of
India'?

a) Ahmedabad
b) Jaipur

¢) Bangalore
d) Hyderabad

The 2018 FIFA World Cup would be held in?

a) Spain

b) Brazil

¢) Russia
d) Germany

The Nobel Peace Prize 2014 was awarded to which
personality?

a) Kailash Satyarthi
b) Malala Yousafzai
¢) Both (a) & (b)

d) None of the above

Which of the following countries won the 2014 FIFA
World Cup?

a) Brazil

b) Germany
c¢) Argentina
d) England

The Buddha International Circuit (F1 Track) is situated in?

a) Chandigarh
b) Greater Noida
¢) Pune

d) Bangalore

The State of Telangana has been carved out of?

a) Kerala

b) Karnataka

c¢) Andhra Pradesh
d) Tamil Nadu

According to the Fortune Magazine, who is the Business
Person of the Year 2014?

a) Mark Zuckerberg
b) Jack Ma

c) Larry Page

d) Laxmi Mittal

Teixobactin, which was in news recently, is a/an?

a) Antibiotic

b) Bacterial disease
¢) Nanofiber cloth
d) Resistant bacteria



33. Which of the following states has separate ministry for

cow affairs?

a) Gujarat

b) Rajasthan

¢) Madhya Pradesh
d) Maharashtra

34. Bhakti Sharma, who was in news recently, is associated

35.

with?

a) Swimming
b) Tennis

¢) Badminton
d) Volleyball

The names of the mascots for Rio Olympic Games 2016
and Paralympics Games are respectively?

a) Polo & Amik

b) Wenlock & Mandeville
¢) Vinicius & Tom

d) Roni & Amik



Questions 36 to 40 are based on the following passage:

SECTION-II
ENGLISH LANGUAGE & COMPREHENSION

To those who do listen, the desert speaks of things with an emphasis quite different from that of the shore, the
mountain, the valley or the plains. Whereas these invite action and suggest limitless opportunity and exhaustless
resources, the implications and the mood of the desert are something different. For one thing, the desert is
conservative, not radical. It is more likely to provide awe than to invite conquest. The heroism which it encourages
is the heroism of the endurance, not that of conquest. It brings man up against his limitations, turns him in upon
himself and suggests values which more indulgent regions suppress. Sometimes it induces contemplation in men
who have never contemplated before. And of all the answers to the question- what is a desert good for-
'contemplation’' is perhaps the best.

36.

37.

38.

39.

40.

In order to receive the desert's message, the beholder
needs to be:

a) Courageous in his reactions
b) Conservative in his responses
¢) A good listener

d) Sensitive to nature

The desert is unique among landscapes in that it
encourages only:

a) Contemplation

b) Indolence

¢) Heroic endeavour
d) Adventurous spirit

If one responds with insight to the mood of the desert, it
evokes:

a) An inclination for deep thought

b) The possibility of unending resources
¢) The desire for heroic conquest

d) A sense of intense revulsion

The writer calls the desert 'conservative' rather than
'radical’ because it provides an environment that:

a) Inspires man to explore it

b) Offers unlimited opportunity to conquer
c¢) Tests one's endurance

d) Makes one gloomy

What does the phrase "it brings man up against his
limitations" mean?

a) It makes man feel hopeless

b) It makes man aware of his limitations

¢) It compels man to fight against his limitations
d) It persuades man to overcome his limitations

Direction: (Question Nos. 41 to 51)
Choose the correct option to fill in the blanks.

41.

42.

43.

44.

45.

The higher you go, the more difficultit ........ to
breathe.

a) has become
b) becomes

¢) is becoming
d) became

My friend willingly complied .......... my request.

a) of
b) to
c¢) from
d) with

In the dark, he knocked ............ the wall.

a) at

b) against
) upon
d) over

His face is not familiar ............ me.

a)to

b) with
c)a

d) about

No one has yet discovered a cure ........... the common
cold.

a) of
b) from
c) for
d) about



46. We must wait until the invigilator ........... the question
papers.

a) would give
b) given

c) gives

d) will give

47. The economist will discuss .......... the unemployment
problem in India.
a) about
b) of
c) for
d) no preposition is needed

48. I wonder if [ shall get ........... my history examination.

a) through
b) from
c)on

d) at

49. Artists like Kalidas belong ........... all ages and all
countries.

a) with
b) for
c)to

d) about

50. He is a postmaster .......... a cock and bull story
whenever his boss tries to pull him up for his negligence

a) pulling out

b) hitting upon
¢) dishing out
d) cooking up
51. We should always stick to our decisions otherwise the
people will mock .......... us.
a) on
b) at
¢) upon
d) over

Direction (Question Nos. 52 to 54)

In each of the following questions, out of the given
alternatives, choose the one which best expresses the
meaning of the given word:

52. Subjugate

a) Capitulate

b) Conquer

c¢) Cause to wither
d) Confuse

53. Accolade

a) Welcome
b) Affection
¢) Award

d) Arrival

54. Retrieve

a) Repeat
b) Repose
¢) Retort
d) Recover

Direction (Question Nos. 55 to 57):
In each of the following questions, find out the best
alternative for the given sentence:

55. The practice of having more than one wife at a time:

a) Polygamy
b) Monogamy
c¢) Bigamy

d) Polyandry

56. That which does not bear the name of the writer:

a) Posthumous
b) Unknown
¢) Anonymous
d) Nameless

57. A medicine that induces sleep:

a) Opium
b) Poppy
¢) Poison
d) Narcotic

Direction (Question Nos. 58 to 63):

Each of the following questions contains four words.
One of the four words is correctly spelt. Pick the
correctly spelt word:

58.

a) Comentry

b) Commentry
¢) Commentery
d) Commentary

59.

a) Embarasment
b) Embarassment
¢) Embarrasment
d) Embarrassment



60.

61.

62.

63.

Direction (Question Nos. 64 to 67): In the following
questions, a word is given followed by four options.
Pick the word having the opposite meaning to the

a) Commettee
b) Committee
¢) Comettee

d) Committee

a) Remuneration
b) Remunaration
¢) Remenration
d) Remunration

a) Fullfil
b) Fulfil
¢) Fulfill
d) Fullfill

a) Defendent
b) Defendant
c¢) Defandant
d) Defandent

given word:

64.

65.

66.

Analogous

a) Dissimilar
b) Showy

c¢) Haughty
d) Alike

Bizarre

a) Soft
b) Usual
c¢) Gentle
d) Same

Adversity

a) Diversity
b) Aftliction
¢) Prosperity
d) Catastrophe

67. Derogatory

a) Immediate
b) Opined

¢) Rough

d) Praising

Direction (Question Nos. 68 to 72): Replace the
italicized part with correct version:

68. If you will fail, you will have to repeat the year.

a) If you would fail
b) If you fail

¢) If you fails

d) No correction

69. It was one of the most inspiring lecture 1 have ever
attended.

a) Most inspiring lecture

b) The most inspiring lectures
¢) Most inspired lecture

d) No correction

70. He did not know that you are busy.

a) You were busy
b) You was busy
¢) You had busy
d) No correction

71. I and Ravi are very good friends.

a) Me and Ravi
b) I with Ravi

c¢) Raviand I

d) No correction

72. Every boy and girl of the college were present at the
function

a) Was present
b) Has present
¢) Had present
d) No correction



Direction (Question Nos. 73 to 75): In the following
questions, choose the option which is dissimilar from
the other three options:

73.

a) Gentle
b) Soft

¢) Tender
d) Harsh

74.

a) Duster
b) Wheel
c) Table

d) Chalk

75.

a) Mouse
b) Monitor
¢) Windows
d) Printer



76.

77.

78.

79.

80.

81.

82.

83.

SECTION-III
LEGAL APTITUDE & LEGAL AWARENESS

The main purpose of the United Nations is to

a) Maintain peace & security

b) Develop friendly relations among Nations
¢) Attainment of common ends

d) All the above

Prof. K.C. Wheare said that the Indian Constitution is

a) Federal

b) Quasi federal

c) Weak federation
d) Unitary

Our Constitution is

a) Federal in structure but unitary in spirit
b) Unitary in structure but federal in spirit
c¢) Federal in both structure & spirit

d) None of these

India, that is Bharat shall be

a) Union of territories

b) Federation of States

¢) Union of States

d) Union of independent units

Who can issue ordinance in a State?

a) Advocate General
b) Attorney general
¢) Chief Minister

d) Governor

Who was the first woman judge of the Supreme Court of
India?

a) Leela Seth

b) Sarojini Naidu

¢) M. Fathima Beevi
d) K.K. Usha

Who appoints the Chief Election Commissioner?

a) President

b) Prime Minister
¢) Parliament

d) None of these

The most important instrument of legal reform is

a) Custom

b) Precedent

c¢) Legislation

d) Writing of legal experts

84

85

86.

87.

88.

89.

90

. In law, a man is presumed to be dead if he has not been
heard of for

a) 6 years
b) 7 years
c) 8 years
d) 10 years

. Which of the following means the law of land?

a) National Law
b) Jus remedium
¢) Lex loci

d) None of these

The minimum age for the marriage of a boy and a girl is

a) 18 years & 21 years respectively
b) 21 years & 18 years respectively
c) 18 years for both
d) 21 years for both

The Commission which looks after the law reforms in
India is

a) Law Reforms Commission
b) Bar Commission

¢) Pay Commission

d) Law Commission

The offence for which a police officer may arrest
without warrant is

a) Cognizable offence

b) Non cognizable offence
c) Bailable offence

d) Non bailable offence

Under Public Interest Litigation, who can move to
Court?

a) Any person
b) Aggrieved

¢) Social worker
d) Media

. Which of the following is the crime of arousing hatred
or contempt against the Government of India?

a) Treason
b) Slander
¢) Sedition
d) Rumour



91.

92.

93.

94.

95.

96.

97.

98.

When a person is prosecuted for committing a criminal
offence, the burden of proof is on?

a) Himself

b) Prosecution
c¢) Court

d) Police

In law of torts, always unliquidated damages are awarded.

The meaning of unliquidated is

a) Not ascertainable
b) Fixed

c¢) Exemplary

d) None of these

The law of torts has largely developed through

a) Customs

b) Judicial decisions
c) Legislations

d) Maxims

Defamation infringes a person's right to

a) Reputation
b) Pride

c) Privilege
d) Status

What is the source of legal authority of India?

a) People of India
b) Constitution

¢) Parliament

d) President

The first Law Officer of our country is

a) Chief Justice of India

b) Attorney General for India

¢) Chairman of Law Commission
d) None of these

The disobedience of any judgment, order, etc. of a court
amounts to

a) Perjury
b) Offence
¢) Violation
d) Contempt

Law of torts deals with

a) Defamation
b) Trespass

¢) Negligence
d) All of these

99. An act done under fear or threat is done under

a) Duress

b) Compulsion
¢) Violation

d) None of these

100. A document issued by court, calling upon a person to
appear before the judge is

a) Call

b) Supra

¢) Summon
d) Bailiff

101. If a person goes away secretly or evades the jurisdiction
of the court, he is

a) Absenting

b) Absconding
c¢) Abrogating
d) Abominating

102. An Act of Parliament is called

a) Bill

b) Order

c) Legislation
d) Public policy

103. The time limit for filing different kinds of suits is
contained in

a) Limitation Act

b) Court Fees Act

¢) Court Rules of India
d) Suit-Time Act

104. The early release of a prisoner is called

a) Bail
b) Parole
c) Lease
d) Lien



Direction (Question nos. 105 to 110): In the following
questions, choose the appropriate meaning for the
given term.

105. Accomplice

a) One who helps a criminal to escape

b) One who instigates to commit a crime

¢) One who helps a person in committing a crime
d) One who commits breach of bail bond

106. Bonafide

a) In bad faith

b) In bad behaviour
¢) In good faith

d) In good behaviour

107. Ultra vires

a) Virus in a computer

b) An act authorized by law

¢) An act carefully done

d) An act beyond the authority

108. De novo

a) From the beginning
b) On a fixed date

¢) On the next date

d) A false case

109. Actus reus

a) Right to act
b) Proper act
¢) Guilty act
d) Guilty mind

110. Adjourn

a) Resume
b) Adjudicate
¢) Admonish
d) Suspend



SECTION IV
ANALYTICAL ABILITY

Direction (Question Nos. 111 to 116): Find out the
missing number/alphabet/series.

111. 1,8,27,
a) 16

b) 10

c) 28

d) 64
112. 34,39, 37, 38, 40, 37,
a) 43

b) 35

c)33

d) 45

113. 69,58, 71, 60,
a) 71

b) 73

c) 72

d) 70

114. TCD, UEF, VGH, , XKL
a) ZMN

b) VII

c) WIJ

d) WIL

115. EZFS, GZHS, 1ZJS, , MZNS
a) OZPS

b) KZMS

c) LZMS

d) KZLS

116. ABC, CBA, DBE, EBD,
a) ABD

b) CBD

c) FBG

d) GBF

117.

If CABLE is coded as ZCDAY, then STABLE will be
coded as?

a) TPADAY
b) TPCDCY
¢) TPCDAY
d) TPCYAY

118.

119.

120.

121.

122.

123.

If CHAPTER is coded as UMOEPYE, then PARTNER
will be coded as?

a) AONPCYE
b) AEEPCYE
¢) AOEACYE
d) AOEPCYE

Ravi is the brother of Aman's son. How is Aman related to
Ravi?

a) Cousin

b) Father

¢) Son

d) Grandfather

In a row of forty children, R is eleventh from the right end
and there are fifteen children between R and M. What is
M's position from the left end of the row?

a) Fourteenth

b) Fifteenth

c¢) Thirteenth

d) Cannot be determined

How many meaningful English words can be formed with
the letters 'LBAE' using each letter only once in each
word?

a) None

b) One

c) Two

d) More than three

Among P, Q, R, S and T each having different height, Q is
shorter than only T. S is shorter than P and Q. Who among
them is the shortest?

a)R
b) S
c)P
d) Data inadequate

In a row of twenty seven boys, Sudhir is tenth from the
left end and Randhir is twenty first from the right end.
How many boys are there between Sudhir and Randhir?

a) One
b) Two
c¢) Three
d) Four



Direction (Question Nos. 124 & 125): Study the
following information carefully to answer the given
questions:

Three of the following four are alike in a certain way and
hence form a group. Which is the one that does not
belong to that group?

124.

a) Dispur

b) Mumbai

¢) Ahmedabad
d) Ranchi

125.

a) Roof

b) House

¢) Beam

d) Floor
126. Sanjeev remembers that his father's birthday is before
10th June but after 6th June and his mother remembers
that his birthday is after 5th June but before 8th June. If
both of them are correct, when is Sanjeev's father's
birthday?

a) 7th June

b) 5th June

c¢) 8th June

d) Cannot be determined
127. If Room is called Home, Home is called School, School is
called Tool, Tool is called Cool, and Cool is called Pool,
where does a teacher teach the students?

a) School

b) Cool

¢) Home

d) Tool
128. Rohit introduced a girl in a party, "She is the wife of the
only son of my father's brother." How is the girl related to
Rohit?

a) Sister

b) Cousin

¢) Aunt

d) Sister in law
129. In a month of 30 days, Friday falls on the 12th day. Which
of the following will be the 25th day of that month?

a) Thursday
b) Monday

¢) Wednesday
d) Saturday

130. Ritesh starts from P and walks 2 km east up to Q and
turns southwards and walks 1 km up to R. At R he turns
east and walks 2 km up to S. He then turns northwards
and walks 4 km to U. How far he is from his starting
point?

a) 3 km
b) 4 km
¢) 5 km
d) 6 km

Direction (Question Nos. 131 to 135): The relation
between the first two words is given. From the options
find a word which bears a similar relation with the
third word.

131. Snake: Fang: Bee: : ?

a) Honey
b) Humming
¢) Wax
d) Sting
132. Anaemia: Blood: Anarchy: : ?
a) Government
b) Monarchy
¢) Disorder
d) Chaos
133. Menu: Food: Catalogue: : ?
a) Rack
b) Newspaper
¢) Books
d) Library
134. Mango: Fruit: Potato: : ?
a) Root
b) Fruit
¢) Stem
d) Flower
135. Botany: Plants: Entomology: : ?
a) Insects
b) Birds
¢) Humans
d) Germs



136. In a field 1368 plants are planted in 38 rows with equal

137. The ratio between the present ages of Viru and Mahesh is

138.

139.

140.

141.

number of plants in each row. How many plants are
there in each row?

a) 34
b) 36
c) 38
d) 42

14:17 respectively. Six years hence the ratio between their

ages will be 17:20 respectively. What was Mahesh's age
five years ago?

a) 29 years
b) 35 years
c) 22 years
d) 27 years

54 chocolates are distributed among some boys and girls.
If each boy gets 3 then each girl gets 5, but if each boy
gets 5 and each girl gets 3 then 4 more chocolates are
needed. What is the number of girls?

a) 12
b) 10
c)8
d) 6

Which of the following is the largest number?

a) 20% of 200
b) 7% of 500
¢) 1300% of 3
d) 600% of 7

If 25% of a number is 75 then what will be 45% of that
number?

a) 145
b) 125
¢) 135
d) 150

What is 20% of 50% of 75% of 50?

a)5.25
b) 6.75
c)7.25
d)s.5

142. Three years ago the average age of A, B and C was 27
years and that of B and C five years ago was 20 years.
What is A's present age?

a) 30 years
b) 35 years
c) 40 years
d) 48 years

143. If three-fifth of a number if 40 more than 40 percent of
the same number, what is that number?

a) 200
b) 250
¢) 300
d) 400

144. A number when 15 subtracted from it reduces to its 80
percent. What is 40 percent of that number?

a) 60
b) 30
c) 45
d) 90

145. The profit earned by selling an article for Rs. 900 is
double the loss incurred when the same article is sold for
Rs. 450. At what price should the article be sold to make
25 percent profit?

a) Rs. 750
b) Rs. 800
¢) Rs. 600
d) Rs. 650

Direction (Question Nos. 146 to 150): Answer the
questions based on the following information.

P, Q, R, S, T and U are six students pursuing their
Master's degree in six different subjects- English,
History, Philosophy, Physics, Statistics and
Mathematics. Two of them stay in hostel, two stay as
paying guest (PG) and the remaining two stay at their
home. R does not stay as PG and studies Philosophy. The
students studying Statistics and History do not stay as
PG. T studies Mathematics and S studies Physics. U and
S stay in hostel. T stays as PG and Q stays at home.

146. Who studies English?

a)P
b) R
c)S
d)T



147.

148.

149.

150.

Which of the following combinations of subject and place
of stay is not correct?

a) Philosophy-Home
b) Mathematics-PG
¢) English-Hostel

d) Physics-Hostel

Which of the following pairs of students stay one each at
hostel and at home?

a) QR
b) SR
c) US
d) PT

Which subject does Q study?

a) History

b) Statistics

c) Physics

d) Eithera or b

Which of the following pairs of students stay at home?

a) PQ
b) QR
¢) RS
d) ST



Rough Work
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